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HEERMT 1.0 10 =
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XBEET 1.0 10| =X
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EELT(BRAD-ERET LB . TEM FE: TES P. 1
) ) B = TR EEHEm
2] L7 Hfy | BfR B B TREE LR =
228 gy 217 217
m3
HHIEHIT (Wyoh)) LB HY 217,361 217.361 217
Nyhiky 1LFE0.28m3
m3
EFEER
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m3
B AR T (N y)hd+ A IfEE D) 15.750 15.750 15
AL n'yhky 1LTE0.28m3 .
m3
g ZEFRHS MR 350mm
B AR T (WNyyh)+aun B o) 157.437-(0.45 X 0.1.X 75.9+0.35 X 0.1 X 75.9)=151.365 151,365 151
WAL n'voEkd 1UFH0.28m3
m3
BEL NI
185 185
I~ S~ B85
m3
F4E BT (4t 2075 5R) | 185.498 185.498 185
YUY ARRER TR
TFKETE DIDXRIFEL m3
FAU-R) | 185498 185.498 185
m3
F 4 BT (4t 26358 | 185.498 185.498 185
YUYy ARRER R
|—ft+ ATZ%E DIDREHY m3
HEFNE
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B~ 05y Hh
m3
4 BT (4t- 208 1R) 31.863 31.863 31
YUYy ARRER LD
FKETZE DIDXRIFEL m3
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BEt
m3




B EEH

EELT (BRHD-EMBT LB EER T
ES — HE EE B (M)
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EELT (BRHD-ERBT LB TEM FE: TE#
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2] L7 Bfy | BEER E BT SRR LR =
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m3
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HELT (BAHD-ERIET LB EER FE EE# P. 4

i1 = — BE TR aA)
£ i By | BER B BT TRILE BIER =
THEERLE L L
=
TIIRAR L 28 (Him 36 T -BHO.28) 75.000 75.000 75
HEAIZE2.610~3000m JJEHA
m
A X EH
1 7
-
TIMIRIREH 30 30 30 SIS REEAAR 1 H A
1E333mm & &3500mm
6045 =]
TVIRIREARE 60 60 60
18333mm & =3500mm
®
| | BN REAEN
1 7
-
TILEECLEH 30 30 30 =IEREEAAMI DA
110~120 x 120~ 130 x 3000
87 =]
TILEECLEH 30 30 30 BRI DA
110~120 X 120~ 130 X 4000
4% ]
TIKESR-FVEF 30 30 30 =IEREEAAMI DA
590~900
12K =]
FHAKERVTEH 30 30 30 SIS REEAARM 1 H A
4B EI5~19L
15 =]
TSRS LE AR 8 8 8
110~120 X 120~130 x 3000
&
TR LEARSY 4 4 4
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&
TVIKIE YR — AR 12 12 12
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55
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HHET-REET

LB - FERI

T FE%

&% sy | wEs > F | wp | wEErtEE | mw
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=
REREREL(T—tILERE) 10 10 10
5|
HKF VI RE - %= 1 1 1
sl
BEEIELE - VERAT 1155 115 115
®50
m
FEEIEILL -V ERRMF T 23+5+5=33 33 33
@50
a
EEHREEEEL VET L®HZO ¢ 50mm 24 24 24
&
HIVP(RRA'UL'45° ) 8 8 8
&
HIVP(RRA'V1'90° ) 1 1 1
&
WYY-MEIFL(ECER) 2 2 2
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W)=+ T (0.05.x0.05 X_7r_%0.075) X 2=0.00118 0.00118 0,001
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HHET-REET

T FE%

LB - FER

£ % | wiE * e | wmEr o teE | m =
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=

BB 126.00 126.0 126
m

ggg&%ﬁg;&gﬂ@%ﬁﬁu -FEA) 63.50 63.5 63
m2

BIRIEHI Ty IR T Bl 62.50 62.5 62
m3

HERTE 63.50 63.5 63.5
m2

PERT 9.80 9.8 9.8
m3

ﬁﬁ?&)\ﬁﬁﬂn'v’ﬁﬁ"ﬂﬁ)\ﬂ\tﬁlﬁl&‘)) 6.40 6.4 6.4
m3
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m3
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i,
m3

T ERIEGHERD) 63.50 63.5 63
m2

T RERBCHERD) 63.50 63.5 63
m2

FA4 EW T (4t 2657 R 29.10 29.1 29
m3

Binng 29.10 29.1 29

MEt
m3

OB T (4t 2tFE#R) 3.20 3.2 32
m3

U 3.20 3.2 32
m3

REEE-BEE) 63.50 63.5 63
m2




HHEI-REET

(EEH
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R
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=
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m
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BISRE - XiERER

1.098kg/m X 115.5m=126.8
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m3
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FERWEHE 7. 7
m
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Co(H )

m3




HEI-HEREBET LB TEM FE: TES P. 11
ES — KR EEIFEm
2] L7 By | BEER B B SRS e EEE =
EERHZEEETOY) 21 71
m
ERRR 32.36 32.36 32
m2
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m
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m2
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SD295 D13
t
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m2
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m2
78.75-0.35 X 40-0.15 X 71.9
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B BT
1050 avy)-+ 30-8-20BB
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5 _

SD295 D13 21.452/5.50%10.00/1000 = 0.039 0.039

£S5 _

SD295 D10 26.886/5.50%10.00/1000 = 0.049 t 0.049
b 0.35%0.35/5.50%10.00 = 022 | m? 0.2
avy)-t _ _
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T H & HAL | B & S
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WHEIVEYAN  Bys | ¢ 65 HIVP L=1.00m /XLt F@1.38 & 5
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G BN BN B B B
(e ER T 1 2 3 4 5 6 g
T & () 4.00 105. 00 6.50 4.00 105. 00 6.50 231.
T FE
t=15cm
AsEfiZERR LT | m 8.00 105. 00 13.00 126.
il
Al
Eﬁfgﬁg t=5cm | m2 2.20 57.75 3.58 63.
(Hsh) AS
o m3 1.78 26. 57 2.90 1.78 26. 57 2.90 62.
FAAB R HI T
T m2 2.20 57.75 3.58 63.
I
b
(H4%) | m3 0.34 8.94 0.55 9.
[
= (AF7) | m3 0.22 5.78 0.36 6.
T :
= Vit
(H4%) | m3 0.77 1.25 1.23 12.13 2.00 17.
e
(AF7) | m3 0.44 11.55 0.72 12.
EMQIL’% t=12cm| m2 2.20 57.75 3.58 63.
(SR
M-30
EMQIH% t=10cm| m2 2.20 57.75 3.58 63.
(SR
RC-30
LS T +/ [ m3 0. 44 13.75 0.72 0.41 13.11 0.68 29.
LT m3 0.11 2.89 0.18 3.
%
As t=3cm | m2 2.20 57.75 3.58 63.
LT




REBlE 650 ( HOE D ) H= 0.65 m
L= 4,00 m
WA Tk D
Y | 100 | 0.30 | | # oy
R 4. 00 ) 4.00 ©@=0©
X 9k 0 X EEE 2. 60 @ 2ﬁ0| 0.65
i %I
550 £
b AR
ANET: 3
FET i S (EP4NES ¢ 60mm
& 7 TTlIES 0.810 m
b =
- oee i F g 0.550 m
S <
= TR 0.100 m
HIVP ¢ 50 B EELAE 0.100 m
4 PR JEARSTE i AL £ i
SRAEY)E T As t=bcm 4.00 X 2 = 8.00 m
ERIEEUEE T As 0.55 X  4.00 = 2.20 m2
R P I T 0.55 X 0.810 X 4.00 = 1. 78 m3
Bt A L3 = 1.78 m3
FHmEms 0.55 X 4.00 = 2.20 m2
H R T W ONS7) 0.55 X 0.100 X 4.00 = 0.22 m3
H R T o (H& k) ( 0.55 X 0.160 —(z/4X 0.060 "2)) X 4.00 = 0. 34 m3
H R T i 1 %) 0.55 X 0.350 X 4. 00 = 0.77 m3
R T i (A7) 0.55 X 0.200 X 4. 00 = 0.44 m3
7 ausy T + W .78 - 1.21 X 1.11 = 0. 44 m3
Ly TE = 0.44 m3
T LAy T As 0.55 X 0.05 X 4.00 = 0.11 m3
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R 0 R
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) S = L
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4 R ARSI &t . & i
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SETEE T As 0.55 X 105.00 = 57.75 m2
F AR S 1 T 0.55 X 0.460 X  105.00 = 26. 57 m3
Bt HRE ] T = 26.57 m3
FmmEE 0.55 X 105. 00 = 57.75 m2
H R T NS 0.55 X 0.100 X 105.00 = 5.78 m3
M RE T > (fAk) ( 0.55 X 0.160 -(x/4X  0.060 "2))X 105.00 = 8.94 m3
R 1 Wt (N 0.55 X 0.200 X 105.00 = 11.55 m3
sy T + w 26.57 - 11.55 X 1.11 = 13. 75 m3
LAy TE = 13.75 m3
B T As 0.55 X 0.05 X 105.00 = 2.89 m3
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L= 6.50 m
WA Tk D
Y | 030 | 1.00 | | # oy
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X 9k 0 X EEE 4.23 @) 4.23 | 0. 65
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e
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i S 1 _
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BetkymAI Lat = 2.90 m3
FHmEms 0.55 X 6. 50 = 3.58 m2
H R T W ONS7) 0.55 X 0.100 X 6.50 = 0. 36 m3
H R T o (H& k) ( 0.55 X 0.160 —(z/4X 0.060 "2)) X 6.50 = 0. 55 m3
HOR T it H 1 (B0 0.55 X 0.350 X  6.50 - 1.25 m3
MR T i (A7) 0.55 X 0.200 X 6. 50 = 0.72 m3
sy T + W 2.90 - 1.97 X 1.11 = 0.72 m3
A TR = 0.72 m3
T LAy T As 0.55 X 0.05 X 6. 50 = 0.18 m3
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SRR Y OFH
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‘ 22018 TlEE®E  t=10cm
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§ itEﬂ%ﬂf*ﬁE%ﬁéﬂE 309 ;i HOME ¢ 60mm
=) %E%%&y === we30]] SI P I 0.810 m
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Hem Ry T 0.55 X 0.810 X 4.00 = 1. 78 m3
3 1.78 m3
H R T i (k) 0.55 X 0.560 X 4.00 = 1. 23 m3
M-30
FEgaE T t=12cm 0.55 X 4,00 = 2.20 m2
RC-30
INERS R t=10cm 0.55 X 4.00 = 2.20 m2
s T + W 1.78 - 1.23 X 111 = 0.41 m3
FAsy 15 = 0.41 m3
FRAERL(13)
B IH L As t=3cm 0.55 X 4. 00 = 2.20 m2
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SRR Y OFH
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RHEIR | FEB -
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I Eli : Hi ) 0.550 m
| “L R 0.100 m
I B L 0.100 m
iEﬁIM{E wW
4 R RSk g B = i
R AR A 1 T 0.55 X 0.460 X  105.00 = 26. 57 m3
3 26.57 m3
H R T i (k) 0.55 X 0.210 X 105.00 = 12.13 m3
M-30
b A t=12cm 0.55 X 105. 00 = 57.75 m2
RC-30
INERS R t=10cm 0.55 X 105. 00 = 57.75 m2
s T + W 26.57 - 12.13 X 1.11 = 13. 11 m3
Ly TE = 13.11 m3
FRAERL(13)
B IH L As t=3cm 0.55 X 105.00 = 57.75 m2
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SRR Y OFH
t#v [ 030  1oo | | B by
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- ' 7 a00m1E [
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I alx } R 0.550 m
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I B L 0.100 m
fEHIE W
[
4 R RSk & B = i
Hem Ry T 0.55 X 0.810 X 6. 50 = 2.90 m3
3 2.90 m3
H R T i (k) 0.55 X 0.560 X 6. 50 = 2.00 m3
M-30
FEgaE T t=12cm 0.55 X 6. 50 = 3.58 m2
RC-30
INERS R t=10cm 0.55 X 6. 50 = 3.58 m2
s T + W 2.90 - 2.00 X 1.11 = 0. 68 m3
LA TEE = 0. 68 m3
FRAERL(13)
B IH L As t=3cm 0.55 X 6. 50 = 3.58 m2
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~0.97

BHIE ~122
#4685t ~1.62

ERIRE S5t

nEEFE R L4

IE4 EKLELESRTKEBEISHILE/N\BTH)

T8I [m]
201~205 206~25 251~26 261~3 301~33 331~35 351~38
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[m] FRIFLE  AVHY—REE aLHY—E
) )
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